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1. Use nodal analysis method to determine Vi, Vo, and Vs in the circuit of Fig. 1. (15%)
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Fig. 1

2. Use mesh analysis method to determine iy, I, and i3 in the circuit of Fig. 2. (15%)

3. Find v(t) in the ideal transformer circuit shown in Fig. 3. (15%)
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4. Find the z parameters for the two-port network of Fig. 4. (15%)
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Fig. 4

5. Obtain Vy(t) for the operational amplifier in Fig. 5 if vs= 4cos(1000t-60°) V - (20%)

6. Use the Laplace transform to find v¢(t) in the circuit in Fig. 6. Assume i, (0) = 0.5 A and
ve(0) =2.5 V. (20%)
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